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MG 1452 — ENGINEERING ECONOMICS AND COST
ANALYSIS

MECHANICAL ENGINEERING
(Common to Automobile Engineering}
Time: Three Hours Maximum:100 marks
(Interest Tables may be Permitted)
ANSWER ALL QUESTIONS
PART—A (10x2=20 marks)

1. Define ‘Law of demand’.

2. Define the term Breakeven Point.

3. What do you mean by Value Analysis?

4. XYZ bank pays 12% and compounds interest quarterly. If
Rs.1,000 are deposited initially, how much shall it grow at
the end of b years.

5. What is cost dominated cash flow?

6.  What is Payback Period?

7. What are the financial factors to be considered for
replacing equipment?

8.  Define Economic life of an asset.
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Define the term Depreciation?
Define the term Inflation’,

PART-B (6x16=g9 Mmarks)

@ @) Explain the scope  of Engineering ®)

conomics,

(it) Analyze the Iimitations of Breakeven 8)

nalysis,

Or

b)) A company jg planning to introduce a (16)

Newline of Sensors. The sensor gajeg Price
will be Rs.200 Per unit. Aftey analyzing the
cost structure, the Management came to 4

Company fy the ompany to alg, cover the
profit/buffey cost?
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13.

14.

(a) 7 (i) Write in detail about the Value

®

b

(a)

Engineering Procedure.

(i) Discuss about the equal payment

series compound amount.
Or

[6)) Explain single payment compound
amount factor.

(i) Exactly ten years from now Mr.Nath
will start receiving a pension of
Rs.3,000 a year. The payment will
continue for 16 years, how much is the
pension worth now, if the interest rate
1s 10%.

Explain Rate of Return Method with example

and  discuss  the  advantages and
disadvantages of Rate of Return Method.

Or
A person invests a sum of Rs.2,00,000 in a
business and received equal net revenue of
Rs.50,000 for the next 10 years. At the end of
10t year the salvage value of the business is

Rs.25,000. Find the rate of return of the
business.

A firm is considering replacement of a

machine, whose cost price is Rs.1,20,000 and

the scrap value is Rs.10,000 at the end of
3
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first year and declines each year by Rs.1,000
from the previous year's scrap value. The
operating cost during the first year is
Rs.2,000 and it increases by Rs.3,000 every
year thereafter.

@) If i=0%, what is the economic service
life of this machine?

(i) If i=10%, what is the economic service
life of this machine?
Or
(i)  What is defender challenger concept in

replacement? Illustrate  with an
example.

(i)  Explain the types of maintenance.
Discuss in detail about:

(0] Declining balance method of
depreciation.

(i) Sinking fund method of depreciation.
Or
Discuss the different types of inflation. How

do these kinds of inflation affect the economic
growth of a nation?
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